

Vestal Central Schools District

Blake Rowe, Purchasing Agent Phone (607) 786-8554 ext. 2236 Fax (607) 786-8545 E-Mail: <u>Browe@btboces.org</u> Central Business Office – Purchasing Dept. 100 Marshall Drive Endicott, NY 13760

Memo

To: Cliff Kasson – Deputy Superintendent
From: Blake Rowe - Purchasing Agent
Date: June 20th, 2022
Subject: 2022-2023-02 Interscholastic Sports supplies Bid

Mr. Kasson

After consulting with the Athletic Department on **Bid # 2022-2023-02 Interscholastic Sports Supplies Bid,** it is **my recommendation** we seek to obtain BOE approval and move forward with awarding the following **vendors**:

Vendor	Dollars
BSN Sports INC	\$ 347.63
M-F Athletic	\$ 250.00
Scholastic Sports Sales LTD	\$12,607.30
Pyramid School Products	\$ 2,438.18
Riddell	\$ 160.20

Total Award Value	\$15,803.30

If you have any questions please feel free to ask.

Blake Rowe Purchasing Agent Vestal CSD

Description	Awarded Vendor	Price	Quantity	nded Amt
BASEBALL GLOVERS -U EASY SCORE BASEBALL SCORE SHEETS WITH STATS	BSN SPORTS, INC	13.24	1	13.24
BASEBALL GLOVERS-3 BINDER FOR SCORE AND STAT SHEETS	BSN SPORTS, INC	19.44	1	19.44
SCRIMMAGE HELMET COVER - ONE SIZE FITS ALL; 1/2" GRIPPER; ELASTIC BOTTOM; 90% COTTON/10% LYCRA; CC	BSN SPORTS, INC	23.92	3	71.76
TENNIS-ROL-DRI MASTER SUPER SPONGE ROLLER REPLACEMENT 36IN WIDE SEAMLESS 3 YR GUARANTEE	BSN SPORTS, INC	36.72	2	73.44
#3110A ELASTIC FOAM PRACTICE CROSSBAR	BSN SPORTS, INC	16.32	1	16.32
Outdoor shot puts first place cast iron shot 6 lb.	BSN SPORTS, INC	14.56	2	29.12
Outdoor shot puts first-place-cast-iron-shot 8 lb.	BSN SPORTS, INC	18.42	2	36.84
Indoor shot puts-first place soft indoor 12 lb.	BSN SPORTS, INC	47.24	1	47.24
Indoor shot puts-first place soft indoor 4kg.	BSN SPORTS, INC	40.23	1	40.23
RATCHET SPIKE WRENCH	M-F ATHLETIC CO	35.00	2	70.00
.22 CALIBER SHORT BLANKS, BLACK POWDER SOLBOX 4740A	M-F ATHLETIC CO	30.00	6	180.00
BOYS BASKETBALLS, WILSON SOLUTION (tm) GAME BALL, OFFICIAL WIDE CHANNEL - NO SUBSTITUTION ON BRA	PYRAMID SCHOOL PRODUCTS	63.99	12	767.88
CAPTAIN ARMBAND BLACK NO SUB	PYRAMID SCHOOL PRODUCTS	01.89	6	11.34
BELTS-1" HEAVY NYLON W/D-RING FASTENER, COLOR GREEN	PYRAMID SCHOOL PRODUCTS	00.89	40	35.60
Football Spalding Alpha Leather Official	PYRAMID SCHOOL PRODUCTS	70.00	2	140.00
No Substitutes				
All Star Afx Fastpitch catchers Kit-Women's Size: Medium Color: White/Graphite No Substitute	PYRAMID SCHOOL PRODUCTS	300.00	1	300.00
All Star AF-Elite fastpitch series catchers Mitt-women's No Substitute	PYRAMID SCHOOL PRODUCTS	132.00	1	132.00
TENNIS BALLS, US OPEN WILSON EXTRA-DUTY FELT #TA302 24 CANS PER CASE	PYRAMID SCHOOL PRODUCTS	86.16	6	516.96
Gamma Sports-Premium Tennis teaching and travel carts-unique sports equipment, large ball capacity, heavy Duty	PYRAMID SCHOOL PRODUCTS	163.00	1	163.00
CLIFTKEEN HEAD GEAR E58 COLOR: BLACK	PYRAMID SCHOOL PRODUCTS	24.60	10	246.00
SCRIMMAGE VESTS-HEAVY DUTY MESH; COLOR: YELLOW; ADULT SIZE LARGE	PYRAMID SCHOOL PRODUCTS	02.09	30	62.70
SCRIMMAGE VESTS-HEAVY DUTY MESH; COLOR: GREEN; ADULT SIZE LARGE	PYRAMID SCHOOL PRODUCTS	02.09	30	62.70
Diamond- DTS-BB DOT color dotted training baseballs (DZ)-no substitutes	RIDDELL/ALL AMERICAN SPORTS	68.20	2	136.40
HELMET INFLATING PUMP WITH NEEDLE RIDDELL #45934 NO SUB	RIDDELL/ALL AMERICAN SPORTS	11.90	2	23.80
Markwort 9" yellow leather cover baseballs-no substitute	SCHOLASTIC SPORTS SALES LTD	99.50	1	99.50
BASEBALLS-DIAMOND D-1 PRO, NO SUB	SCHOLASTIC SPORTS SALES LTD	69.90	20	1,398.00
SCOREBOOK-C.S. PETERSON SCOREMASTER NO SUB	SCHOLASTIC SPORTS SALES LTD	03.10	2	06.20
RAWLINGS PRACTICE BALLS IN BUCKET, 6 GAL. BUCKET WITH PADDED SEAT FILLED WITH 3 DOZ. RAWLINGS ROL	SCHOLASTIC SPORTS SALES LTD	129.90	3	389.70
BASEBALL/SOFTBALL LINE-UP CARD BOOKLET. GLOVERS FOUR-PART CARBONLESS LINE-UP CARDS- 24 SETS PER	SCHOLASTIC SPORTS SALES LTD	03.90	3	11.70
BASKETBALL SCOREBOOK-CRAMER MARK V NO SUB	SCHOLASTIC SPORTS SALES LTD	04.20	4	16.80
CHINGFORD MULTI-TURF FIELD HOCKEY BALL SEAMLESS PVC HOLLOW COLOR ORANGE NO SUB	SCHOLASTIC SPORTS SALES LTD	29.90	12	358.80

PENN MONTO MULTI-TURF FIELD HOCKEY BALL, COLOR: YELLOW. HAS A NFHS SEAL FOR OFFICIAL HIGH SCHOOL	SCHOLASTIC SPORTS SALES LTD	29.90	12	358.80
TK BALL BAG- DURABLE VINYL/NYLON BALL BAG WITH ZIPPER CLOSURE. COLOR: BLACK LONGSTRETH# H022B- N	SCHOLASTIC SPORTS SALES LTD	19.90	1	19.90
Grays Wheelie Field Hockey Goalie Bag No Substitutes	SCHOLASTIC SPORTS SALES LTD	64.90	1	64.90
Grit-HTFX Hockey Tower Equipment bag Color: Dallas Size: 36" No Substitutes	SCHOLASTIC SPORTS SALES LTD	99.90	1	99.90
Grit-HTFX hockey tower equipment bag Color: Boston Size: 36" No Substitute	SCHOLASTIC SPORTS SALES LTD	99.90	1	99.90
OBO ROBO HI-CONTROL LEFT HAND GOALKEEPING BLOCKER, BLACK	SCHOLASTIC SPORTS SALES LTD	167.90	2	335.80
STX SULTRA WOMEN'S CHEST PROTECTOR, SILVER/BLUE, SIZE MEDIUM	SCHOLASTIC SPORTS SALES LTD	99.50	2	199.00
GRAYS FOAM THROAT PROTECTOR- FOAM PADDING SURROUNDS A FLEXIBLE INNER PROTECTOR- CRANBARRY	SCHOLASTIC SPORTS SALES LTD	49.90	2	99.80
MOUTH PIECE-NATIONAL HIGH SCHOOL FEDERATION STANDARDS COLOR:BLACK	SCHOLASTIC SPORTS SALES LTD	00.29	300	87.00
FOOTBALLS- WILSON TDY LEATHER GAME BALL - YOUTH	SCHOLASTIC SPORTS SALES LTD	29.90	6	179.40
FOOTBALLS- WILSON GST LEATHER SERIES OFFICIAL SIZE	SCHOLASTIC SPORTS SALES LTD	84.00	6	504.00
PRACTICE JERSEY, SOUTHLAND FN-202 COLOR: WHITE HEAVYWEIGHT BELT LENGTH PORTHOLE NYLON BODY DOUBLE THICKNESS PORTHOLE SHOULDER AND SLEEVES SIZE: XL NO SUB	SCHOLASTIC SPORTS SALES LTD	07.90	10	79.00
PRACTICE JERSEY-SOUTHLAND FN-202, COLOR: WHITE HEAVYWEIGHT BELT LENGTH PORTHOLE NYLON BODY DO	SCHOLASTIC SPORTS SALES LTD	07.90	10	79.00
PRACTICE JERSEY-SOUTHLAND FN-202, COLOR: WHITE HEAVYWEIGHT BELT LENGTH PORTHOLE NYLON BODY DO NEUMANN WRIST COACH SWEATBAND WITH GAME COMPARTMENT WHITE	SCHOLASTIC SPORTS SALES LTD SCHOLASTIC SPORTS SALES LTD	07.90	10 40	79.00 136.00
NEUMANN WRIST COACH SWEATBAND WITH GAME COMPARTMENT WHITE	SCHOLASTIC SPORTS SALES LTD	03.40	40	136.00
NEUMANN WRIST COACH SWEATBAND WITH GAME COMPARTMENT WHITE GOLF BALLS- TITLEIST PRO V1- NO SUB ON BRAND	SCHOLASTIC SPORTS SALES LTD SCHOLASTIC SPORTS SALES LTD	03.40	40 12	136.00 610.80
NEUMANN WRIST COACH SWEATBAND WITH GAME COMPARTMENT WHITE GOLF BALLS- TITLEIST PRO V1- NO SUB ON BRAND GOLF BALLS- TITLEIST Velocity Printing to be green letters with the school Name "VESTAL"	SCHOLASTIC SPORTS SALES LTD SCHOLASTIC SPORTS SALES LTD SCHOLASTIC SPORTS SALES LTD	03.40 50.90 29.90	40 12 12	136.00 610.80 358.80
NEUMANN WRIST COACH SWEATBAND WITH GAME COMPARTMENT WHITE GOLF BALLS- TITLEIST PRO V1- NO SUB ON BRAND GOLF BALLS- TITLEIST Velocity Printing to be green letters with the school Name "VESTAL" Monogrammed plastic golf markers with the bear on them-dime size-green w/Vestal bear logo 100/pk	SCHOLASTIC SPORTS SALES LTD SCHOLASTIC SPORTS SALES LTD SCHOLASTIC SPORTS SALES LTD SCHOLASTIC SPORTS SALES LTD	03.40 50.90 29.90 100.00	40 12 12 1	136.00 610.80 358.80 100.00
NEUMANN WRIST COACH SWEATBAND WITH GAME COMPARTMENT WHITE GOLF BALLS- TITLEIST PRO V1- NO SUB ON BRAND GOLF BALLS- TITLEIST Velocity Printing to be green letters with the school Name "VESTAL" Monogrammed plastic golf markers with the bear on them-dime size-green w/Vestal bear logo 100/pk OFFICIAL LACROSSE BALLS - WHITE BRINE NOCSAE; NO SUBSTITUTE	SCHOLASTIC SPORTS SALES LTD SCHOLASTIC SPORTS SALES LTD SCHOLASTIC SPORTS SALES LTD SCHOLASTIC SPORTS SALES LTD SCHOLASTIC SPORTS SALES LTD	03.40 50.90 29.90 100.00 15.90	40 12 12 1 20	136.00 610.80 358.80 100.00 318.00
NEUMANN WRIST COACH SWEATBAND WITH GAME COMPARTMENT WHITE GOLF BALLS- TITLEIST PRO V1- NO SUB ON BRAND GOLF BALLS- TITLEIST Velocity Printing to be green letters with the school Name "VESTAL" Monogrammed plastic golf markers with the bear on them-dime size-green w/Vestal bear logo 100/pk OFFICIAL LACROSSE BALLS - WHITE BRINE NOCSAE; NO SUBSTITUTE LACROSSE SCOREBOOK-BRINE NO SUB	SCHOLASTIC SPORTS SALES LTD SCHOLASTIC SPORTS SALES LTD	03.40 50.90 29.90 100.00 15.90 07.90	40 12 12 1 20 3	136.00 610.80 358.80 100.00 318.00 23.70
NEUMANN WRIST COACH SWEATBAND WITH GAME COMPARTMENT WHITE GOLF BALLS- TITLEIST PRO V1- NO SUB ON BRAND GOLF BALLS- TITLEIST Velocity Printing to be green letters with the school Name "VESTAL" Monogrammed plastic golf markers with the bear on them-dime size-green w/Vestal bear logo 100/pk OFFICIAL LACROSSE BALLS - WHITE BRINE NOCSAE; NO SUBSTITUTE LACROSSE SCOREBOOK-BRINE NO SUB LACROSSE MOUTHGUARDS GOLD	SCHOLASTIC SPORTS SALES LTD SCHOLASTIC SPORTS SALES LTD	03.40 50.90 29.90 100.00 15.90 07.90 00.29	40 12 12 1 20 3 50	136.00 610.80 358.80 100.00 318.00 23.70 14.50
NEUMANN WRIST COACH SWEATBAND WITH GAME COMPARTMENT WHITE GOLF BALLS- TITLEIST PRO V1- NO SUB ON BRAND GOLF BALLS- TITLEIST Velocity Printing to be green letters with the school Name "VESTAL" Monogrammed plastic golf markers with the bear on them-dime size-green w/Vestal bear logo 100/pk OFFICIAL LACROSSE BALLS - WHITE BRINE NOCSAE; NO SUBSTITUTE LACROSSE SCOREBOOK-BRINE NO SUB LACROSSE MOUTHGUARDS GOLD STX portable crease orange No Substitutes	SCHOLASTIC SPORTS SALES LTD SCHOLASTIC SPORTS SALES LTD	 03.40 50.90 29.90 100.00 15.90 07.90 00.29 104.90 	40 12 12 1 20 3 50 1	136.00 610.80 358.80 100.00 318.00 23.70 14.50 104.90
NEUMANN WRIST COACH SWEATBAND WITH GAME COMPARTMENT WHITE GOLF BALLS- TITLEIST PRO V1- NO SUB ON BRAND GOLF BALLS- TITLEIST Velocity Printing to be green letters with the school Name "VESTAL" Monogrammed plastic golf markers with the bear on them-dime size-green w/Vestal bear logo 100/pk OFFICIAL LACROSSE BALLS - WHITE BRINE NOCSAE; NO SUBSTITUTE LACROSSE SCOREBOOK-BRINE NO SUB LACROSSE MOUTHGUARDS GOLD STX portable crease orange No Substitutes SOCCER SCOREBOOK-BRINE NO SUB	SCHOLASTIC SPORTS SALES LTD SCHOLASTIC SPORTS SALES LTD	 03.40 50.90 29.90 100.00 15.90 07.90 00.29 104.90 05.90 	40 12 12 1 20 3 50 1 6	136.00 610.80 358.80 100.00 318.00 23.70 14.50 104.90 35.40
NEUMANN WRIST COACH SWEATBAND WITH GAME COMPARTMENT WHITE GOLF BALLS- TITLEIST PRO V1- NO SUB ON BRAND GOLF BALLS- TITLEIST Velocity Printing to be green letters with the school Name "VESTAL" Monogrammed plastic golf markers with the bear on them-dime size-green w/Vestal bear logo 100/pk OFFICIAL LACROSSE BALLS - WHITE BRINE NOCSAE; NO SUBSTITUTE LACROSSE SCOREBOOK-BRINE NO SUB LACROSSE MOUTHGUARDS GOLD STX portable crease orange No Substitutes SOCCER SCOREBOOK-BRINE NO SUB Nike Club Team Swoosh Ball Bag 3.0 W17518-BLK-OSZ	SCHOLASTIC SPORTS SALES LTD SCHOLASTIC SPORTS SALES LTD	 03.40 50.90 29.90 100.00 15.90 07.90 00.29 104.90 05.90 23.90 	40 12 12 1 20 3 50 1 6 3	136.00 610.80 358.80 100.00 318.00 23.70 14.50 104.90 35.40 71.70
NEUMANN WRIST COACH SWEATBAND WITH GAME COMPARTMENT WHITE GOLF BALLS- TITLEIST PRO V1- NO SUB ON BRAND GOLF BALLS- TITLEIST Velocity Printing to be green letters with the school Name "VESTAL" Monogrammed plastic golf markers with the bear on them-dime size-green w/Vestal bear logo 100/pk OFFICIAL LACROSSE BALLS - WHITE BRINE NOCSAE; NO SUBSTITUTE LACROSSE SCOREBOOK-BRINE NO SUB LACROSSE MOUTHGUARDS GOLD STX portable crease orange No Substitutes SOCCER SCOREBOOK-BRINE NO SUB Nike Club Team Swoosh Ball Bag 3.0 W17518-BLK-OSZ Soccer Ball Spalding TF 5000 Model# 64-7929 Black and Gold	SCHOLASTIC SPORTS SALES LTD SCHOLASTIC SPORTS SALES LTD	 03.40 50.90 29.90 100.00 15.90 07.90 00.29 104.90 05.90 23.90 	40 12 12 1 20 3 50 1 6 3	136.00 610.80 358.80 100.00 318.00 23.70 14.50 104.90 35.40 71.70 2,118.10

Swim Outlet-Sporti, Silicone Goggle Replacement Strap Balck Color: Black Product Code 31102-0005	SCHOLASTIC SPORTS SALES LTD	19.90	10	199.00
Recreonics-Colorado Time Push Button, Item number 93-526	SCHOLASTIC SPORTS SALES LTD	194.00	2	388.00
PYRAMID SPIKES 1/4", PKG OF 100	SCHOLASTIC SPORTS SALES LTD	07.90	6	47.40
STOP WATCH - ACCUSPLIT #725X NO SUB #3242A	SCHOLASTIC SPORTS SALES LTD	13.90	2	27.80
FIRST PLACE CHAMPIONSHIP FIBERGLASS CROSSBARS - HIGH JUMP MODEL (13' 1.5") #3102A	SCHOLASTIC SPORTS SALES LTD	175.00	1	175.00
FIRST PLACE CHAMPIONSHIP FIBERGLASS CROSSBARS- POLE VAULT MODEL (14' 10") #3101A	SCHOLASTIC SPORTS SALES LTD	175.00	1	175.00
VOLLEYBALLS, SPALDING TF VB 5 GIRLS GREEN/BLACK/WHITE NO-SUBSTITUTES	SCHOLASTIC SPORTS SALES LTD	45.90	24	1,101.60
WRESTLING SCOREBOOK, CLIFF KEEN	SCHOLASTIC SPORTS SALES LTD	04.80	1	04.80
LONGSTRETH LACROSSE SCOREBOOK- WOMEN'S LACROSSE	SCHOLASTIC SPORTS SALES LTD	05.90	3	17.70
STX GAME BALLS - OFFICIAL NCAA-NFHS LACROSSE GAME BALL - YELLOW - NO SUBSTITUTES - NOCSAE APPRON	SCHOLASTIC SPORTS SALES LTD	15.90	10	159.00
Chasse Clear Rain Jacket with hood-Cheer-no substitute	SCHOLASTIC SPORTS SALES LTD	13.90	40	556.00
Stride Right Mats-Baseball/Softball dual purpose instructional pitching mat mound overlay stance & stride throwin	g trainer with power lanes & pitching ru	bber advanced pi	2	
Stride Right Mats-Baseball Softball hitting batting mat dual purpose instructional setup, stance, stride & swing train	ning & batting mat advanced hitter strid	e right mats	2	
Tanner-Hitting Deck-Baseball Softball hitting aid & coaching tool, w/ regulation home plate, front foot placements	and contact points-no substitute		2	
Tanner-Infinitee/Tanner traditional hitting tee combo-infinite position batting tee for baseball and softball			2	
OBO ROBO plus field hockey goalie kickers-medium-black No Substitutes			2	
OBO ROBO Hi Control field hockey goalie leg guards-medium-black No Substitutes			2	
OBO ROBO HI-REBOUND RIGHT HAND GOALKEEPING GLOVE, BLACK			2	
OBO ROBO HI-CONTROL GOALKEEPING KICKERS			2	
OBO ROBO HI-CONTROL GOALKEEPING LEGGUARDS, BLACK, SIZE LARGE			2	
OBO PE GOALKEEPING HELMET, BLACK, SIZE MEDIUM			2	
KWIK GOAL DISC CONES; HEIGHT: 2.25" WIDTH: 7 5/8", NO SUB; COLOR: ORANGE			40	
KWIK GOAL STRAP DISC CONE CARRIER- NYLON STRAP HOLDS UP TO 150 DISC CONES, COLOR: BLACK- NO SUB			2	
NZ Manufacturing-Longbelt Slider Replacemnt tubing S11875RT-StrechCordz-Yellow 5-14 lb. S11875RT-YL			2	
NZ Manufacturing-Longbelt Slider Replacemnt tubing S11875RT-StrechCordz-Green 8-24 lb. S11875RT-GR			2	
Seiko S057 Interval Timer-No substitute			3	
Pole Vault Grip Tape-green			5	
SMALL - MESH LACROSSE BALL BAG (BLACK)			3	
DEBEER SENTINEL LACROSSE GOALIE STICK			1	
DEBEER END CAPS FOR STICKS (GREEN)			10	
Air Tracks 5in1 combo blue-no substitute			1	
Hobbymonsters.com-K-Roo Sports, Medium Incline Cheese Wedge Mat 59.25'x29.5'x14.75'			1	

atchtuff.com EZ-Score Plus portable tennis scorekeeper 7
--